
  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Bank Management 
(From CY – 2020 Onwards) 

First Year 

BUSINESS AND CORPORATE LAWS 

Time : 3 hours Maximum marks : 70 

PART A — (3  3 = 9 marks) 

Answer any THREE questions each in 100 words. 

1. Define contract. 

 J¨£¢uzøu Áøμ¯ÖUP. 

2. What is an unpaid seller? 

 ö\¾zu¨£hõu ÂØ£øÚ¯õÍº GßÓõÀ GßÚ? 

3. Define price. 

 Âø» Áøμ¯ÖUPÄ®. 

4. What is cheque? 

 Põ÷\õø» GßÓõÀ GßÚ? 

5. Define breach of contract. 

 J¨£¢uzøu «ÖÁøu Áøμ¯ÖUP. 

 UG–A–1149 BBM–12X



 UG–A–1149 2

PART B —  (3  7 = 21 marks) 

Answer any THREE questions. 

6. Explain the importance of statutory meeting. 

 \mhŸv¯õÚ Tmhzvß •UQ¯zxÁzøu ÂÍUSP. 

7. Define pledge. When can the non owners create a 
valid pledge? 

 AhS Áøμ¯Ö. ö£õ¸mPÎß «x E›ø© ö£ØÓÁº 

G¨ö£õÊx J¸ ö\À»zuUP AhQøÚ HØ£kzu»õ®? 

8. What are the contents of memorandum of 
association? 

 Aø©¨¦ \õ\Úzvß EÒÍhUP[PÒ ¯õøÁ? 

9. What is agenda? Explain the method of preparing 
it. 

 {PÌÄ{μÀ Gß£x ¯õx? Ax u¯õ›UP¨£k® 

Âu[PøÍ £ØÔ ÂÁ›. 

10. Differentiate a void contract from a voidable 
contract. 

 uÂºUPU Ti¯ J¨£¢uzuzøu²®, ö\À»õu 

J¨£¢uzøu²® ÷ÁÖ£kzxP. 
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PART C — (4  10 = 40 marks) 

Answer any FOUR questions. 

11. Distinguish between sale and agreement to sell. 
 ÂØ£øÚ, Ehß£iUøP ÂØ£øÚ°¼¸¢x G[VÚ® 

÷ÁÖ£kQÓx. 

12. State the rights, duties and responsibilities of an 
agent. 

 •PÁ›ß Phø©PÒ, E›ø©PÒ, ö£õÖ¨¦PÒ £ØÔU 

TÖP. 

13. Explain the prospects and its contents. 
 uPÁÀ AÔUøP GßÓõÀ GßÚ? Auß EmTÖPÒ 

£ØÔ ÂÁ›. 

14. Describe the powers and duties of chairman. 
 {ÖÁÚz uø»Á›ß AvPõμ[PøÍ²®, 

Phø©PøÍ²® ÂÁ›. 

15. Describe the remedies available for breach of 
contract. 

 J¨£¢u •ÔÂØPõÚ wºøÁ ÂÍUSP. 

16. Discuss in detail about various kinds of cheque. 
 £À÷ÁÖ ÁøP¯õÚ Põ÷\õø»PøÍ £ØÔ ÂÁõv. 

17. What are the different modes in which the agency 
can be terminated? 

 •Pø© G¢u ÁÈPÎÀ •iÄ ö£Ö®? 

——––––––––– 



  

 

 

U.G. DEGREE EXAMINATION —  
JULY, 2022. 

Bank Management 

(From CY 2020 onwards) 

First Year 

PRINCIPLES OF ACCOUNTING 

Time : 3 hours Maximum marks : 70 

PART A — (3 × 3 = 9 marks) 

Answer any THREE questions each in 100 words. 

1. Write the meaning of private limited company. 
 Áøμ¯ÖUP¨£mh uÛ¯õº {ÖÁÚ® GßÓõÀ GßÚ? 

2. Mention any three objectives of financial 
statement analysis. 

 {v AÔUøP £S¨£õ´Âß 3 ÷|õUP[PøÍ 
SÔ¨¤hÄ®. 

3. Meaning of fixed cost with example. 
 Euõμnzxhß  {ø»¯õÚ  ö\»Âß  ö£õ¸Ò  

u¸P. 
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4. What are the characteristics of partnership? 
 Tmhõsø©°ß £s¦PÒ ¯õøÁ? 

5. What do you understand by equipment of short-
workings? 

 SÖQ¯ ÷Áø»PøÍ «möhk¨£uß ‰»® }[PÒ 
GßÚ ¦›¢xöPõÒQÕºPÒ? 

PART B —  (3 × 7 = 21 marks) 

Answer any THREE questions. 

6. Ram and Mohan are patterns in a firm Ram’s 
capital is 10,000 and Mohan’s capital is 6,000. The 
interest on capital is payable @6% p.a. A salary of  

 300 p.m. is paid to Mohan. The current year’s profit, 
before interest and salary, was 8,000. Show the 
distribution of profit amongst Ram and Mohan. 

 μõ® ©ØÖ® ÷©õPß J¸ {ÖÁÚzvÀ £[SuõμºPÒ. 
μõªß ‰»uÚ® ¹. 10,000, ÷©õPÛß ‰»uÚ®  

¹. 6,000. ‰»uÚzvØPõÚ Ámi BskUS @ 6% 
ö\¾zu ÷Ásk®. ÷©õPÝUS ©õu® ¹. 300 \®£Í®. 

|h¨£õsk »õ£®, Ámi ©ØÖ® \®£ÍzvØS •ß 

8,000 ¹£õ´. μõ•US® ÷©õPÝUS® Cøh÷¯ C»õ£ 

Â{÷¯õPzøuU PõmkQßÓÚ. 

7. Differentiate between hire purchase system and 
installment system. 

 ÁõhøP öPõÒ•uÀ •øÓ ©ØÖ® uÁøn •øÓ 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 



 UG–A-1148 3

8. A limited company issued 2,000 shares of Rs. 100 
each at a discount of 10% payable as follows : 

 (a) On application  – Rs. 40 per share 

 (b) On allotment – Rs. 50 per share 

 Applications were received for 4,000 shares. The 
excess money received on application were 
utilized toward the sum due on allotment. All 
the money were duly received. Write journal 
entries. 

 J¸ Áøμ¯ÖUP¨£mh {ÖÁÚ® ¹. 100 ©v¨¦ÒÍ 
2,000 £[SPøÍ 10% uÒÐ£i°À ¤ßÁ¸©õÖ 
ÁÇ[Q¯x. 

 (A) Âsn¨£zvÀ  – J¸ £[SUS ¹. 40 

 (B) JxURmiÀ  – J¸ £[QØS ¹. 50 

 4,000 £[SPÐUS Âsn¨£[PÒ ö£Ó¨£mhÚ. 
Âsn¨£zvÀ ö£Ó¨£mh AvP¨£i¯õÚ £n® 
JxUP¨£mh öuõøPUS £¯ß£kzu¨£mhx. 
AøÚzx £n•® •øÓ¯õP ö£Ó¨£mhx. 
SÔ¨÷£mi¨ £vÄ ö\´x GÊx[PÒ. 

9. S company Ltd., acquired the following assets and 
liabilities at an agrees price of Rs. 5,50,000. 

 (a) Machinery  – Rs. 3,00,000 

 (b) Debtors  – Rs. 1,00,000 

 (c) Creditors  – Rs. 50,000 

 (d) Inventory  – Rs. 1,50,000 
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 The company paid the agreed price by issuing 

shares of Rs. 100 each at a premium of 10%. 

 You are required to write entries for purchase of 

business. 

 S {ÖÁÚ® Ltd., ¤ßÁ¸® ö\õzxUPÒ ©ØÖ® 

ö£õÖ¨¦PøÍ ¹. 5,50,000 J¨¦UöPõsh Âø»°À 

Áõ[Q¯x. 

 (A) C¯¢vμ[PÒ – ¹. 3,00,000 

 (B) PhÚõÎPÒ  – ¹. 1,00,000 

 (C) Phß öPõkzuÁºPÒ – ¹. 50,000 

 (D) \μUQ¸¨¦ – ¹. 1,50,000 

  {ÖÁÚ® 10% ¤Ÿª¯zvÀ u»õ ¹. 100 

£[SPøÍ öÁÎ°mk J¨¦UöPõsh 

Âø»ø¯ ö\¾zv¯x. ÁoP Áõ[P¾UPõÚ¨ 

£vÄPøÍ u¸Â. 

10. Discuss the ‘stock and debtors’ method of 

maintaining branch accounts. 

 QøÍU PnUSPøÍ¨ £μõ©›¨£vÀ ‘£[S ©ØÖ® 

PhÚõÎPÒ’ •øÓø¯¨ £ØÔ ÂÁõvUPÄ®. 
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PART C — (4 × 10 = 40 marks) 

Answer any FOUR questions each in 500 words. 

11. The following accounts are extracted from income 
statement and balance sheet. 

 Rs. 

Debentures 5,00,000

Creditors 1,00,000

Undistributed profit 3,00,000

Debtors  2,50,000

Discount on shares issued 50,000

Cash 1,50,000

Outstanding expenses 1,00,000

Inventory 2,00,000

Sales 25,00,000

Share capital 10,00,000

 You are required to calculate : 

 (a) Current ratio 

 (b) Quick ratio 

 (c) Inventory turnover ratio 

 (d) Debt – equity ratio. 
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 ¤ßÁ¸® PnUSPÒ Á¸©õÚ AÔUøP ©ØÖ® 
C¸¨¦{ø»U SÔ¨¤¼¸¢x 
¤›zöukUP¨£kQßÓÚ. 

 ¹. 

Phß £zvμ[PÒ 5,00,000

Phß öPõkzuÁºPÒ 1,00,000

Â{÷¯õQUP¨£hõu »õ£® 3,00,000

PhÚõÎPÒ 2,50,000

ÁÇ[P¨£mh £[SPÎÀ uÒÐ£i 50,000

£n® 1,50,000

{¾øÁ°À EÒÍ ö\»ÄPÒ 1,00,000

\μUQ¸¨¦ 2,00,000

ÂØ£øÚ 25,00,000

£[S ‰»uÚ® 10,00,000

 }[PÒ PnUQh ÷Ásk® : 

 (A) uØ÷£õøu¯ ÂQu® 

 (B) ÂøμÁõÚ ÂQu® 

 (C) \μUS ÂØÖ•uÀ ÂQu® 

 (D) Phß & DUÂmi ÂQu®. 

12. What is the object of ‘accounting standard’? State 
the advantages of setting accounting standard. 

 ‘PnUQ¯À uμ{ø»’°ß ö£õ¸Ò GßÚ? PnUQ¯À 
uμ{ø»ø¯ Aø©¨£uß |ßø©PøÍU SÔ¨¤hÄ®. 
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13. The net profit as per financial account of a 
company is Rs. 60,000. On verification of financial 
and cost account – following facts were located. 

 (a) Factory overhead : 

  (i) On cost account – Rs. 30,000 

  (ii) On financial account – Rs. 40,000 

 (b) Administrative expenses undercharged in 
financial account – Rs. 12,000. 

 (c) Closing stock over valued in financial 
account Rs. 9,000. 

 (d) Dividend received – Rs. 15,000. 

  You are required to make reconciliation 
statement of cost and financial account. 

 J¸ {ÖÁÚzvß {vU PnUQß£i {Pμ »õ£®  
¹. 60,000. {v ©ØÖ® ö\»ÄU PnUQß 
\›£õº¨¤À & ¤ßÁ¸® Esø©PÒ 
PshÔ¯¨£mhÚ : 

 (A) öuõÈØ\õø» ÷©Øö\»Ä : 

   (i) ö\»Ä PnUQÀ – ¹. 30,000 

  (ii) {v PnUQÀ – ¹. 40,000. 

 (B) {ºÁõPa ö\»ÄPÒ {vU PnUQÀ SøÓÁõP 
Á`¼UP¨££kQßÓÚ – ¹. 12,000. 
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 (C) {vU PnUQÀ ©v¨¦US ÷©À CÖv 
\μUQ¸¨¦ – ¹. 9,000. 

 (D) DÄzöuõøP ö£Ó¨£mhx – ¹. 15,000. 

  }[PÒ ö\»Ä ©ØÖ® {vU PnUQß \©{ø» 

AÔUøPø¯ E¸ÁõUP ÷Ásk® 

14. The following assets and liabilities are extracted 

from two year balance sheet. 

Particulars Year 1 
Rs. 

Year 2
Rs. 

Cash 75,000 73,000

Debtors 35,000 30,000

Creditors 12,000 15,000

Bills payable 8,000 5,000

 Additional information : 

 (a) Purchases of machinery – Rs. 48,000 

 (b) Payment of loan  – Rs. 50,000 

 (c) Issued of shares  – Rs. 50,000 

 (d) Dividend paid  – Rs. 10,000 

  You are required to write : 

  (i) Schedule of changes in working capital. 

  (ii) Funds flow statement.  
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 ¤ßÁ¸® ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ  
Cμsk Á¸h C¸¨¦{ø»U SÔ¨¤¼¸¢x 
¤›zöukUP¨£kQßÓÚ. 

 
ÂÁμ[PÒ 

Bsk 1
¹. 

Bsk 2
¹. 

£n® 75,000 73,000

PhÚõÎPÒ 35,000 30,000

Phß öPõkzuÁºPÒ 12,000 15,000

ö\¾zu ÷Ási¯ ^mkPÒ 8,000 5,000

 TkuÀ uPÁÀ : 

 (A) C¯¢vμ[PÒ Áõ[SuÀ – ¹. 48,000 

 (B) Phß ö\¾zxuÀ – ¹. 50,000 

 (C) £[SPÒ öÁÎ±k – ¹. 50,000 

 (D) DÄzöuõøP ö\¾zu¨£mhx – ¹. 10,000 

  }[PÒ GÊu ÷Ási¯x : 

  (i) ©õÓTi¯ |øh•øÓ•uÀ AmhÁøn 

  (ii) {v Kmh AÔUøP. 

15. What do you understand by the following items 
and where do they appear in the annual accounts 
of a general insurance company. 

 (a) Outstanding claims. 

 (b) Reinsurance claims. 

 (c) Reserves for unexpired risks. 
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 ¤ßÁ¸® CÚ[PÎß ‰»® }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ ©ØÖ® ö£õx Põ¨¥mk {ÖÁÚzvß 
Á¸hõ¢vμ PnUSPÎÀ AøÁ G[÷P ÷uõßÖ®? 

 (A) {¾øÁ°À EÒÍ E›ø©÷PõμÀPÒ 

 (B) ©ÖPõ¨¥mk ÷Põ›UøPPÒ 

 (C) Põ»õÁv¯õPõu ChºPÐUPõÚ C¸¨¦UPÒ. 

16. The following information are given in respect to a 
material : 

 Annual requirement – 60,000 units 

 Purchasing price per unit – Rs. 20 

 Carrying cost – 20% purchasing price per unit 

 Ordering cost per order – Rs. 300 

 Required to find : 

 Economic order quantity [EOQ] 
 J¸ ö£õ¸Ò öuõhº£õP ¤ßÁ¸® uPÁÀPÒ 

öPõkUP¨£mkÒÍÚ. 

 Bsk ÷uøÁ – 60,000 A»SPÒ 

 A»S Áõ[S® Âø» – ¹. 20 

 Gkzxa ö\À¾® ö\»Ä – J¸ A»SUS 20% 
öPõÒ•uÀ Âø» 

 Kº EzuμÄUPõÚ ÷Pm¦ ö\»Ä – ¹. 300 

 Psk¤i : 

 [EOQ] ö£õ¸Íõuõμ JÊ[S AÍÂøÚU Psk¤i. 
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17. Discuss the importance of financial statements to 
a company and its investors and creditors and why 
management may table steps to improve the 
appearance of the company in its financial 
statement. 

 J¸ {ÖÁÚ® ©ØÖ® Auß •u½mhõÍºPÒ ©ØÖ® 
PhÚõÎPÐUS {v{ø» AÔUøPPÎß 
•UQ¯zxÁ®, ©ØÖ® Auß {v{ø» AÔUøPPÎÀ 
{ÖÁÚzvß ÷uõØÓzøu ÷©®£kzu {ºÁõP® Hß 
|hÁiUøP GkUQÓx Gß£øu¨ £ØÔ ÂÁõvUPÄ®. 

——––––––––– 


